Проверочная работа №1.

1 вариант

Решите уравнение:
а) 5х2 – 25х = 0;         г) 5х2 + 3х – 2 = 0;
б) х2 + 10х + 9 = 0;    д) 3х2 – 9 = 0;
в) 5х2 – х + 2 = 0;      е) 25х2 + 110х + 121 = 0.
ж) 10х2 + 5х – 0,6 = 0;
з) х2 - 2х = 0;
и) 6х2 = 54;
к) y2 – 22y - 48 = 0.
2 вариант

Решите уравнение:
а) 5х2 – 4х – 12 = 0;         г) 7х2 – 14х = 0;
б) 2х2 = 72;                       д) х2 – 6х + 8 = 0;
в) 9х2 – 60х + 100 = 0;     е) 6х2 – 2х + 1 = 0.
ж) 3х2 - х - 2 = 0;
з) 5y2 = 4y;
и) х2 - 16 = 0;
к) х2 - 34х + 64 = 0.
